6.5 Type VL — Type V with flange for motor mounting

6.5.1 Features

Gear ratios: i=1:1to 6:1

Maximum output torque: 2310 Nm

8 gearbox sizes with edge lengths of 065 to 260 mm
Low-backlash construction < 6 angular minutes possible
Suitable for fitting IEC standard motors

Drive side with hollow-bored shaft and flange

Housing made of grey cast iron or steel

065 - 140 mm 160 — 260 mm

6.5.2 Models

A0 ®

il ii@

Figure 6.5.2-1; Models

6.5.3 Gearbox sides

The example shows the Model CO

| C>| Kegelritzel

@

Kegelrad

Figure 6.5.3-1; Gearbox sides Figure 6.5.3-2; Shaft designations

6.5.4 Order code

The order code reflects the customer specifications. Example:

. .. . Installation .
“m
VL 065 1:1 CO- 1. 1-

1500 /0000
Description Size Table 6.5.5-1 Figure 6.5.2-1 Gearbox side Gearbox side  Slowly rotating Standard
Table 6.5.5-1 on which fixing directed down- shaft;
is made; Table wards; Figure  Table 6.5.5-1
6.2.3-1; 43.1-1

Figure 4.3.1-1; Gearbox sides
Gearbox sides

D120 /14x30
Flange diam- Shaft diameter
eter x length

Table 6.5.4-1
AVEK

ANTRIEBSTECHNIK

87

Status as per 01/2018 WWWEITEkde




6.5.5 Overview of performance data

P1 T2N T2 max IEC motor Gearbox | P1NT P1 T2N T2 max IEC motor Gearbox | PiNT
(kW] [fpml [Nm] [Nm] [Nm] size [kW] [kWI [Nm] [Nm1 [Nm] i [kW]

1880 3.62 40 1.5:1 090
1 22 5l 063A 4 1410 4.83 23 30 2:1 OSOA—Z 090 3.8
0.12 670 1.62 11 25 2:1 063A-4 065 1.6 1360  5.00 32 105 1:1 080B-4 090 3.8
: 593 1.84 13 25 151 063B-6 065 1.6 940 7.24 23 70 3:1 080A-2 090 3.8
447 244 11 23 3:1 063A-4 065 1.6 906  7.50 29 40 1.5:1 080B-4 090 3.8
296  3.68 12 23 3:1 063B-6 065 1.6 705  9.65 23 70 4:1 080A-2 090 3.8
2680 0.61 10 25 1:1 063A-2 065 1.6 680 10.01 27 30 2:1 080B-4 090 3.8
1787 0.91 10 25 151 063A-2 065 16 606 1122 86 100 1.5:1 090s-6 120 6.2 <
1340  1.22 10 25 1:1 063B-4 065 1.6 0.75 564 12.06 27 60 5:1 080A-2 090 3.8 % g:g'
893 1.83 10 25 151 063B-4 065 1.6 : 453  15.01 27 70 3:1 080B-4 090 3.8 =<
670 244 10 25 2:1 063B-4 065 1.6 340 20.01 27 70 4:1 080B-4 090 3.8 “
593 275 10 25 151 071A-6 065 1.6 303 2243 82 155  3:1 090s-6 120 6.2
450  3.63 11 23 3:1 063B-4 065 1.6 272 2502 72 140 51 080B-4 120 6.2
0.18 445  3.67 10 25 2:1 071A-6 065 1.6 227 2998 64 120 6:1 080B-4 120 6.2
335 487 27 70 4:1 063B-4 090 3.8 182 3739 80 140 511 090S-6 120 6.2
296  5.52 11 23 3:1 071A-6 065 1.6 152 4477 67 113 6:1 090s-6 120 6.2
268  6.09 27 60 5:1 063B-4 090 3.8 138 4931 86 140 5:1 100LA-8 120 6.2
224 7.29 25 50 6:1 063B-4 090 3.8 115 5917 69 118  6:1 100LA-8 120 6.2
178  9.17 31 60 5:1 071A-6 090 3.8 2820 3.54 27 105 1:1 080B-2 090 3.8
167  9.75 32 70 4:1 080A-8 090 3.8 1880 5.31 25 40 1.5:1 080B-2 090 3.8
148 11.03 29 50 6:1 071A-6 090 3.8 1410 7.08 23 30 2:1 080B-2 090 3.8
112 1458 30 50 6:1 080A-8 090 3.8 940 10.62 23 70 3:1 080B-2 090 3.8
2700 0.84 10 25 1:1 063B-2 065 1.6 920 10.85 78 100 1.5:1 090S-4 120 6.2
1800 1.26 10 25 151 063B-2 065 1.6 705 1416 23 70 4:1 080B-2 090 3.8
1350 1.68 10 25 1:1 071A4 065 1.6 690 1446 73 80 2:1 090S-4 120 6.2
890 255 10 25 1:1 071B-6 065 1.6 606 1645 86 100 1.5:1 090L-6 120 6.2
675 3.36 10 25 2:1 071A-4 065 1.6 1.1 564 1769 60 140 51 080B-2 120 6.2
540  4.20 23 60 5:1 063B-2 090 3.8 460 21.70 74 155 3:1 090S-4 120 6.2
450  5.04 27 70 3:1 071A-4 090 3.8 345 2893 74 155 41 09084 120 6.2
0.25 450  5.04 11 25 3:1 071A-4 065 1.6 303 3290 82 155 3:1 09%0L-6 120 6.2
337 6.72 27 70 4:1 071A-4 090 3.8 276 36.16 72 140 51 090S-4 120 6.2
296  7.65 31 70 3:1 071B-6 090 3.8 227 4387 79 155 4.1 090L-6 120 6.2
270 840 27 60 5:1 071A-4 090 3.8 182 5483 80 140 51 090L-6 120 6.2
225 10.08 25 50 6:1 071A-4 090 3.8 152 6566 67 120 6:1 090L-6 120 6.2
178 1274 31 60 5:1 071B-6 090 3.8 138 7232 86 140 51 100LB-8 120 6.2
148 1533 29 50 6:1 071B-6 090 3.8 1420  9.58 56 80 2:1 090Ss-2 120 6.2
134 1693 32 60 5:1 080B-8 090 3.8 946 1438 58 155 3:1 090S-2 120 6.2
112 2025 30 50 6:1 080B-8 090 3.8 920 1479 78 100 1.5:1 090L-4 120 6.2
2800 1.20 10 25 1:1 071A-2 065 1.6 710 1917 60 155 41 090S-2 120 6.2
1400  2.40 10 25 2:1 071A-2 065 16 690 19.72 73 80 2:1  090L-4 120 6.2
1350 2.49 10 25 1.1 071B-4 065 16 613 2219 78 100 1.5:1 100LA-6 120 6.2
933  3.60 10 23 3:1 071A-2 065 1.6 568 23.96 60 140 51 090S-2 120 6.2
900 3.73 29 40 1.5:1 071B-4 090 3.8 15 460 2958 74 155  3:1 090L-4 120 6.2
675 497 10 25 2:1 071B-4 065 16 : 345 3945 74 155 4.1 090L-4 120 6.2
675 497 27 30 2:1 071B-4 090 3.8 306 4438 82 155 3:1 100LA-6 120 6.2
0.37 600 5.59 32 40 1.5:1 080A-6 090 3.8 276 4931 72 140 51 090L-4 120 6.2
560  5.99 23 60 5:1 071A-2 090 3.8 230 59.17 64 120 61 090L-4 120 6.2
450  7.46 27 70 3:1 071B-4 090 3.8 184 7396 80 140  5:1 100LA-6 120 6.2
B | 995 27 70 4:1 071B-4 090 3.8 154 8837 113 200 6:1 100LA-6 140 10
270 1243 27 60 5:1 071B-4 090 3.8 140 9721 130 250 51 112M-8 140 10
225 1492 25 50 6:1 071B-4 090 3.8 117 11631 118 200 6:1 112M-8 140 10
180 1865 31 60 5:1 080A-6 090 3.8 1893 1054 61 100 1.5:1 090L-2 120 6.2
150 2238 29 50 6:1 080A-6 090 3.8 1420 14.06 56 80 2:1  090L-2 120 6.2
2810 1.78 10 25 1:1 071B-2 065 1.6 940 2123 78 100 1.5:1 100LA-4 120 6.2
1873 2.66 10 23 151 071B-2 065 1.6 710  28.11 60 155 4.1 090L-2 120 6.2
1405  3.55 10 25 2:1 071B-2 065 1.6 626 31.85 &0 100 151 112M-6 120 6.2
936  5.33 10 23 3:1 071B-2 065 1.6 568 35.14 60 140 51 090L-2 120 6.2
936  5.33 23 70 3:1 071B-2 090 3.8 2.2 470 4247 74 155 3:1 100LA-4 120 6.2
906  5.50 29 40 1.5:1 080A-4 090 3.8 352 5662 74 155 4.1 100LA-4 120 6.2
702 7.10 23 70 4:1 071B-2 090 3.8 313 63.70 82 155 3:1 112M-6 120 6.2
680 7.34 27 30 2:1 080A-4 090 3.8 188 106.17 124 250 51 112M-6 140 10
600  8.32 32 40 1.5:1 080B-6 090 3.8 157 127.13 165 200 6:1 112M-6 160 15
562  8.88 23 60 5:1 071B-2 090 3.8 141 14156 240 420 5:1 132SB-8 160 15
0.55 453 11.01 27 70 3:1 080A-4 090 3.8 118 169.15 178 200  6:1 132SB-8 160 15

340 1468 27 70 4:1 080A-4 090 3.8 Table 6.5.5-1

300 16.63 31 70 3:1 080B-6 090 3.8

272 1835 72 140 51 080A-4 120 6.2

227 2198 25 50 6:1 080A-4 090 3.8

180 2772 31 60 5:1 080B-6 090 3.8

172 2893 82 155 4.1 090L-8 120 6.2

150 3327 67 120 61 080B-6 120 6.2 <

138 36.16 86 140 51 090L-8 120 6.2 NUE K
115 4339 69 120 6:1 090L-8 120 6.2 ANTRIEBSTECHNIK

88

WwwatEkde Status as per 01/2018




6.5 Type VL — Type V with flange for motor mounting

P1 T2N T2 max IEC motor Gearbox | P1NT ToN T2 max IEC motor Gearbox | PiNT
[kw] ['Pm] [Nm] [Nm] [Nm] size [kW] [rpml [Nm] [Nm] [Nm] i [kW]

1880 3.62 L. 5 1 080A2 090 2910 132MA-2
1410 4.83 080A-2 1940 42 o9 113 210 L. 5 1 132MA2 140 1o
1360 5.00 32 105 1.1 080B-4 090 3.8 1430 57.10 260 660 1:1 132MC4 160 15
940 724 23 70 31 080A2 090 38 1430 57.10 162 430 1:1 132MC4 140 10
906 750 29 40 151 080B4 090 38 970 84.18 190 457 3.1 132MA2 160 15
705 965 23 70 41 080A2 090 38 953 8565 252 360 151 132MC4 160 15
680 1001 27 30 21 080B4 0% 38 953 8565 155 210 151 132MC4 140 10
3 606 1122 86 100 151 090S-6 120 6.2 9 727 11224 180 422 41 132MA-2 160 15
564 1206 27 60 51 08A2 095 38 715 11420 138 180 2:1 132MC4 140 10
453 15601 27 70 31 080B-4 090 38 715 11420 245 320 2:1 132MC4 160 15
340 2001 27 70 41 080B4 090 38 582 14030 180 420 5.1 132MA2 160 15
303 2243 82 155 31 090s6 120 6.2 476 17130 230 457 3:1 132MC4 160 15
272 2502 72 140 51 080B4 120 6.2 357 22840 220 422 4.1 132MC4 160 15
227 2998 64 120 61 080B-4 120 6.2 286 28550 380 860 5:1 132MC4 200 26
182 3739 8 140 51 (09056 120 6.2 238 34259 490 1000 6:1 132MC4 230 34
152 4477 67 113 &1 090S6 120 62 1940 5140 330 600 151 160MA2 200 26
138 4931 8 140 51 100LA8 120 62 1465 6810 450 1090 1.1 160MB4 200 26
115 59.17 €9 118 &1 100A8 120 6.2 976 10220 437 600 151 160MB4 200 26
2820 354 27 105 11 080B2 090 3.8 732 13620 425 530 2.1 160MB4 200 26

1880 5.31 25 40 1.5:1 080B-2 090 3.8
1410 7.08 23 30 2:1 080B-2 090 3.8

940 1062 23 70 3:1 080B-2 090 3.8
920 1085 78 100 1.5:1 090s-4 120 6.2 11 488 20440 515 90 31 160MB-4 200 6

366 272.50 455 860 4:1 160MB-4 200 26
705 1416 23 70 4:1 080B-2 090 3.8
4 293 340.60 380 860 5:1 160MB-4 200 26
690 1446 73 80 2:1  090s-4 120 6.2
240 41580 485 860 4:1 160LA-6 200 26
606 1645 86 100 1.5:1 090L-6 120 6.2
192 519.80 990 1910 5:1 160LA-6 260 42
564 17.69 60 140 51 080B-2 120 6.2
460 2170 74 155 3.1 090S4 120 6.2 182 546.80 1100 1940 4:1 180L-8 260 42
146 683.50 1100 1910 5:1 180L-8 260 42

345 2893 74 155 4.1 090s-4 120 6.2
303 3290 82 155 31 0906 120 6.0 1953 69.70 330 600 1.5:1 160MB-2 200 26

640 15590 505 600 1.5:1 160LA-6 200 26
582 171.50 300 860 5:1 160MA-2 200 26

6 3616 72 140 51 09054 120 62 1465 9290 450 1090 1:1 160LA-4 230 34
207 4387 79 155 41 0906 120 62 1465 9290 450 1090 1:1 160LA-4 200 26
150 5483 80 140 51 0906 120 62 976 139.30 437 600 15:1 160LA-4 200 26
152 6566 67 120 61 0%0L6 120 62 732 18580 425 530 2.1 160LA-4 200 26
138 7232 86 140 51 100lB8 120 6.2 646 21040 505 600 151 180L-6 200 _ 26
1420 958 56 30 21 09052 120 6.2 15 586 23220 300 860 &1 160MB-2 200 26
946 14.38 58 155 31 090S-2 120 62 488 278.70 515 910 3:1 160LA-4 200 26
920 1479 78 100 151 0904 120 6.2 366 37160 455 860  4:1 160LA-4 200 26
710 19.17 60 155 4.1 090S-2 120 6.2 293 46450 880 1910 5:1 160LA-4 260 42
690 19.72 73 20 2.1 0904 120 6.2 242 561.18 675 1300 4:1 180L-6 230 34
613 22.19 78 100 1.5:1 100LA-6 120 6.2 242 56120 1050 1940 4:1 180L-6 260 42
5.5 568 23.96 60 140 5:1 090S-2 120 6.2 194 70150 990 1910 5:11 180L-6 260 42
460 29.58 74 155 3:1 090L-4 120 6.2 146 932.10 1100 1910 5:1 200LB-8 260 42
345 39.45 74 155  4:1  090L-4 120 6.2 1960 8560 330 600 1.5:1 160L-2 200 26
306 4438 82 155 3.1 100LA6 120 62 1470 11420 450 1090 1.1 180M-4 200 26
276 4931 72 140 51 0904 120 6.2 980 17130 437 600 151 180M-4 200 26
230 5917 64 120 61 090L4 120 62 975 17210 1050 2310 1.1 200LA-6 230 34
184 7396 80 140 51 100LA6 120 62 975 17210 1050 2310 1.1 200LA6 260 42
154 8837 113 200 61 100LA6 140 10 735 22840 425 530 2.1 180M-4 200 26
140 9721 130 250 51 112M-8 140 10 650 25820 1000 1000 15:1 200LA-6 260 42
117 11631 118 200 6:1 112M-8 140 10 588 28540 300 860 51 160L-2 200 26
1893 1054 61 100 151 090L2 120 6.2 18,5 490 34250 515 910 31 180M-4 200 26
1420 1406 56 80 21 0902 120 62 490 34253 366 1000 6:1 1602 230 34
940 2123 78 100 151 100LA-4 120 62 367 45670 455 860 41 180M-4 200 26
710 2811 60 155 4.1 090L2 120 6.2 325 51643 635 1300 3:1 200LA-6 230 34
626 3185 80 100 151 112M-6 120 62 325 51640 990 1940 3.1 200LA6 260 42
568 3514 60 140 51 0902 120 6.2 294 57090 880 1910 51 180M-4 260 42
470 4247 74 155 3:1 100LA4 120 6.2 294 57088 635 1200 5:1 180M-4 230 34
352 5662 74 155 4.1 100LA4 120 6.2 243 690.70 1050 1940 4:1 200LA-6 260 42
75 313 6370 82 155 31 112M-6 120 6.2 195 860.70 990 1910 5:1 200LA-6 260 42
188 10617 124 250 51 112M-6 140 10 1470 13580 450 1090 1.1 180L-4 230 34
157 127.13 166 200 6&:1 112M-6 160 15 1470 13580 450 1090 1:1 180L-4 200 26
141 14156 240 420 51 1325B8 160 15 980 20370 437 600 151 180L-4 200 26
118 169.15 178 200 6:1 132SB-8 160 15 735 271.60 425 530 20 180L-4 200 26
240 2835 485 860 41 160MB6 200 26 650 307.10 1000 1000 15:1 200LB-6 260 42
192 3544 420 860 51 160MB6 200 _ 26 500 33829 510 1200 51 180M-2 230 34
160 4253 540 1000 6:1 160MB-6 230 34 22 00 40730 515 910 31 1804 200 26
144 4725 1100 1910 51 160LB8 260 42 487 409.80 1050 1200 2:1 200LB6 260 42
144 4725 770 1200 51 160LB-8 230 34 367 54390 900 1940 4.1  180L4 260 42
_Table 6.5.5-1 | 367 54312 600 1300 4:1 180L-4 230 34

294 67890 880 1910 5:1 180L-4 260 42
243 82140 1050 1940 4:1 200LB-6 260 42

-
AUVEK

ANTRIEBSTECHNIK

89

Status as per 01/2018 WwwatEkde




sox0qJeab
|anag

y 3
AVVE K

ANTRIEBSTECHNIK

90

WwwatEkde Status as per 01/2018




Characteristics

Characteristic

6.5.6 Type VL 065 — Type V with flange for motor mounting

Standard

Toothing

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to03:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

91

Status as per 01/2018

www.atek.de




Performance data

21 31 41 61
n
" r1n1 ny [PiN | T2N PIN T2N PiN | T2N PIN | T2N PiN | T2N F'1N T2n PiN | T2n
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]
10 10 10 10

3000 3000 3.31 2000 2.20 1500 1.65 1000

2400 2400 265 10 1600 1.76 10 1200 132 10 800 0.88 10
1500 1500 1.82 11 1000 121 11 750 091 11 500 0.61 11
1000 1000 132 12 667 088 12 500 066 12 333 044 12
750 750 107 13 500 0.72 13 375 054 13 250 033 12
500 500 0.83 15 333 055 15 250 041 15 167 024 13
250 250 047 17 167 031 17 125 023 17 83 0.12 13

50 50 010 18 33 007 18 25 005 18 17 003 14
P1Nt (kW] 1.6 16 16 16
T2max [Nm] 25 25 25 23

Permissible radial force Fr2 and axial force Fa2 on shaft N2

2T O R GO AN AN AN A YO RN IO AT T

< 12 300 150 400 200 500 250 650 325 750 S5 900 450
> 12 250 125 330 165 420 210 540 270 630 S5 750 375

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

Inertia moment [kgcm<]

)
i [ st [z [ a1 | a1 | s | e | ®

062060 048590 0.43630 0.37670 33 ® :
BO 065490 055640 048540 0.37320 3.2 }
co 065490 0.55640 048540 0.37320 3.2 B e I HEC)
DO 066480 056080 048790 0.37430 33 A - —
EON 070720 060870 053770 0.42550 31 L
EOS 0.83300 073450 066350 0.55130 3.1 ®) -
Fo 0.81500 057230 048490 0.39830 37 N, F,
Go 084930 071060 0.62070 0.45520 36
HO 084930 071060 0.62070 0.45520 36
10 085920 071500 0.62320 0.45630 37 Foo
KON 090160 076290 067300 0.50750 35
K0S 102740 0.88870 0.79880 0.63330 35
A
ANAUE K

ANTRIEBSTECHNIK

92

WwwatEkde Status as per 01/2018

<«
@
Y
=
(=3
o
x
@
»

|onag




6.5.6 Type VL 065 — Type V with flange for motor mounting

i 65 65
00€
©)
olxle T — =
Q| Q 8 g
= 45
— ® M6x12
n2 ® [] [ T ]
(©] I (€]
e - |
|
I* 203
o i1 @
- 5 I
} 05
4
21216
17
44t
26417
65
S Al
RRNIES @l 8|3
@ DR M4
DIN 332
1 ®
i N
- ®
45
®
]—-l = B @ M6x12
= d [ ‘ | .
) S — Implementation VV
oY | = i i on demand
|
o L o e ——
® g T |
N |
——— P . o (<=}
- l‘_‘l - L I j T =
® ‘
—— @ 5] | 159
1|5 -
® n 17 14 6 23
@44 17 215 R DR M5
o - @64 1 — T
} ]__j 15 DIN 332
—~——
®
- B14 11x23 120 100 80 7 3
- B5 11x23 140 115 95 9 3
NUEIK - B14 14x30 105 85 70 7 3
ANTRIEBSTECHNIK Bl4 14)(30 140 115 95 9 3

93

Status as per 01/2018 WWW&TEkde




© _
| == S
SRE_ - HE 8
- ®
10 2 /|l » 2 |2
90 92
45 .
Implementation
(®|  Méxi2
] | —r——
| — EONO ,,,  EOK6
AT
: &
0|0 |
'Y o141 &
|
— SH A‘
2059 :
A6x11x14
1SO 14
i 65 65
® [
al x| C ==
SI8/% g3
10 2 Jl|l. 4 42 2
90 46 63
@146
45 Ll
® | wmext2 ‘
N = 9 = - I S
k=i [
‘ 7z
[ 5 :
ey 0| L E IE
< |© 7o : o =] : %
! z13 @ ||
] = |
, | N |
3 T
HoE £ =
o
o12H6 S
o441 o14h7 1216
26417

The dimensions of the Models not shown can be figured by mirroring available dimensions.
The shaft dimensions on side 4 follow from the dimensions of type AQ.

www.atek.de

AVEK

ANTRIEBSTECHNIK

94

Status as per 01/2018

sox0qJeab
|anag




Characteristics

Characteristic

6.5.7 Type VL 090 — Type V with flange for motor mounting

Standard

Toothing

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

95

Status as per 01/2018

www.atek.de



Performance data

n
" r1n1 ny [PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2N PIN | T2N F’1N T2N
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]

3000 3000 893 27 2000 551 25 1500 3.80 23 1000 254 23 750 190 23 600 152 23 500 1.25

2400 2400 7.41 28 1600 459 26 1200 3.17 24 800 2.12 24 600 165 25 480 132 25 400 1.09 25
1500 1500 529 32 1000 320 29 750 223 27 500 149 27 375 112 27 300 089 27 250 0.74 27
1000 1000 3.75 34 667 235 32 500 1.71 31 333 1.14 31 250 085 31 200 0.68 31 167 053 29
750 750 306 37 500 193 35 375 132 32 250 088 32 188 066 32 150 053 32 125 040 29
500 500 220 40 333 136 37 250 094 34 167 063 34 125 047 34 100 037 34 83 027 29
250 250 121 44 167 074 40 125 050 36 83 033 36 63 025 36 50 020 36 42 014 30

=
8
5
S =
<
@
w

50 50 028 50 33 016 45 25 010 37 17 007 37 13 005 37 10 004 37 8 003 33
PNt [kW] 38 38 38 38 38 38 38
T2max INm] 105 80 80 70 70 60 50

Permissible radial force Fr2 and axial force Fa2 on shaft N2
TonINml | FrIND | FaN | RN | PN | FeiNg | FaNi | RN | PN | FeiND | FaIND | FOND | FaINd |
< 30 500 250 660 330 800 400 950 475 1250 625 1500 750
> 30 420 210 550 275 670 335 790 395 1040 520 1250 625

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

e T e e e e ®
AO

288400 1.82740 1.48200 122120 1.15050 1.09920 1.09330 6.7 @ :
BO 367930 252850 170350 1.37930 1.24810 1.16770 1.13730 7.0 }
co 367930 252850 170350 1.37930 1.24810 1.16770 1.13730 7.0 S I B @
DO 370770 254110 171060 1.38240 1.24990 1.16890 1.13810 7.1 e |- T
EON 357570 248240 167760 136780 124160 1.16360 1.13440 66 L
EOS 424630 278050 1.84520 1.44230 1.28350 1.19040 1.15310 6.8 ® .
FO 416350 239600 1.80190 1.36330 1.23040 1.15040 1.12890 7.9 N, F,
GO 495880 3.44200 252730 2.12550 153120 1.44130 1.40800 85
HO 495880 3.44200 252730 2.12550 153120 1.44130 1.40800 85
10 498720 3.45460 253440 2.12860 1.53300 1.44250 1.40880 86 Fez
KON 485520 339590 250140 2.11400 152470 143720 1.40510 8.1
KOS 552580 3.69400 2.66900 2.18850 156660 1.46110 1.42380 83

y 3
AVVE K

ANTRIEBSTECHNIK

96

WwwatEkde Status as per 01/2018




6.5.7 Type VL 090 — Type V with flange for motor mounting

i 90 90
ode @ Mexio
7 2 3
@ 28 3
- - 1]
ol Xgl T - S -
8§ % E 1] q‘
w DR M6
] DIN 332
35
= 70
— ® M8x14
n2 ® t [ T 1
(O] I @
] L |
|
——q I o et =S
@ | i @
— z ; 1,0
} 10
6 s
1818
230
607
28917
R 90
‘ @ M8x10
® R
@ ~
SR E] | o =
Q '@‘ g = Ir > o®o
5 DR M6
DIN 332
] @
®@
]._- ] 12
110
T ®
70
® n1I
Implementation VV
® 7 S R S B
2 —ees -
® ¢ TEEET I I
Y | |
i HE . ‘ =
@ Q | Sr
® 6 |
21818 (8L -
230 224 16
® nt H@GOW e 3 D
28917 _ DRM8_
1 1 — DIN 332
- — o @
® - Bl4 11x23 120 100 80 7 3
B5 11x23 140 115 95 9 3
- B14 14x30 140 115 95 9 3
- B5 14x30 160 130 110 9 4
ANAUVVE K 80 B14 19x40 120 100 80 7 3
ANTRIEBSTECHNIK B14 19)(40 160 130 110 9 4

97

Status as per 01/2018 WWW&TEkde




90 90

@ M8x10 oae
o g v .
S| EE g
88| § SRS S
w @
(=]
Eg
12 2l % 55 L 2 S5
10 124 e
70 i
Implementation
(6)| _Msxi4
H T EONO - EOK6
T
[ : e i
- i 8@ | =
| o
et U o001 S n n<_—r'2 ®
|
‘ KOK6 ®
1
- SH A‘ o rma"
659 ! i
bt
S \}
@20 H7
A6x16x20
1SO 14
i 90 90 b ode
M8x10
® | O]
ol X\ %a ”':5
SRS I . 3§
12 2 J|. 55 55 2|
110 62 87
@20h6 e
70 @207
® MBx14 :
. = « = \ &
I E I
I e |
D
oo ! E :
-{- 28 Z7 3 | 2
| g9 2 ||
I = |
, | N |
2 i
2 o
HOE £ s
o1gH6 <
26017 @247 o188
28917 250

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

98
www.atek.de

Status as per 01/2018



6.5.8 Type VL 120 — Type V with flange for motor mounting

Characteristics

Characteristic

Standard

Toothing

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

99

Status as per 01/2018

www.atek.de



Performance data

n
" r1n1 ny [PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2n
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]

3000 3000 21.82 66 2000 1345 61 1500 9.26 56 1000 639 58 750 496 60 600 3.97 60 500 295 54
2400 2400 1852 70 1600 11.46 65 1200 8.07 61 800 55 63 600 443 67 480 344 65 400 253 57
1500 1500 13.56 82 1000 860 78 750 6.03 73 500 408 74 375 3.06 74 300 238 72 250 175 64
1000 1000 10.14 92 667 632 86 500 440 80 333 301 82 250 218 79 200 176 80 167 122 66
750 750 851 103 500 518 94 375 330 80 250 240 87 188 169 82 150 142 86 125 094 68
500 500 6.34 115 333 3.70 100 250 220 80 167 166 90 125 116 84 100 098 8 83 063 69
250 250 339 123 167 184 100 125 110 8 83 087 9 63 060 8 50 051 92 42 033 71

50 50 072 130 33 037 100 25 022 8 17 021 110 13 012 90 10 010 95 8 006 66
PNt [kW] 6.2 6.2 6.2 6.2 6.2 6.2 6.2
T2max INm] 220 169 80 155 155 140 120

Permissible radial force Fr2 and axial force Fa2 on shaft N2
ToN [Nm]

< 80 750 375 1000 500 1250 625 1500 750 1900 950 2200 1100
> 80 630 S5 830 415 1040 520 1250 625 1580 790 1830 915

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

i e | | sa | e | sa | or [ ®
AO 12.5824 693340 540030 479750 4.46280 4.29660 4.22670 15.6 @ ‘
BO 17.3870 9.53660 672850 5.49390 4.91930 4.60430 4.44830 15.3 \
co 173870 953660 6.72850 549390 4.91930 4.60430 4.44830 15.3 S I | @
DO 17.6844 9.66870 680280 552690 493790 4.61620 4.45660 155 A |- S —
EON 17.2787 948840 670140 548190 491250 4.60000 4.44530 15.0 L
EOS 19.0660 102828 7.14820 5.68040 502420 4.67150 4.49500 15.3 ® -
FO 17.8312 9.26620 671250 538070 479080 4.50650 4.37250 180 N, F,
GO 206358 120447 9.06280 7.22660 5.80760 5.14500 4.97910 17.7
HO 206358 120447 9.06280 7.22660 5.80760 5.14500 4.97910 17.7
10 229332 121768 9.13710 7.25960 5.82620 5.15780 4.98740 17.9 Fo
KON 225275 119965 9.03570 7.21460 5.80080 5.14160 4.97610 17.4
KOS 243148 127909 948250 7.41310 591250 521310 5.02580 17.7
A
ANAUVVEIK

ANTRIEBSTECHNIK

100

WwwatEkde Status as per 01/2018

<«
@
Y
=
(=3
o
x
@
»

|onag




6.5.8 Type VL 120 - Type V with flange for motor mounting

@ Mioxds
ode S ” %4
® 36 _ 4
= L 1
S8 |- 2 - ‘
: 1 =
« DR M10
/ DIN 332
45
100
® M10x16
4 | w |
(O] I @
I — e I
| oo
i I - g
o i @
5 3 ; 1,0
T 10
8 .
@25 16
@30
@80 f7
o119 7
Y i 120 120
@ M2
® 4
al x| e B
SIS = o= 218
Q ‘é Q
w DR M10
= DIN 332
M10x16
- g Implementation VV
‘ [
i
e i——:lc—:—)\ S S — :
‘ =1
T | i
7‘ | |
- I I @
— 1 I 1 T
15
1,0 15 N T2
[I=) | w
o125 16 ARI I -
2135 230 18 o
280 7 240 =l
. DR M12
DIN 332
14x30 3
80 514 19x40 160 130 110 4
B5 19x40 200 165 130 11 4
- B14 24x50 160 130 110 9 4
B5 24x50 200 165 130 11 4
- B14 28x60 200 165 130 11 4
- B5 28x60 250 215 180 14 5
ANAUE K 112 B14 28x60 200 165 130 11 4
ANTRIEBSTECHNIK B5 28x60 250 215 180 14 5

101

Status as per 01/2018 WWW&tEkde




120

120
@ M10x2
> : 6 ode
ol X . E L:c: S
°8s 4k g
: ®
19 3 | 72 72 L3 -
oo
135 160 gg
S 3
100 .
®| miods Implementation
] EONO ,,,  EOKG
AT
B = = ) :
T ]
H7 o
e = ' g5t =
|
SH A‘
8JS9 |
Cq
3
028 H7
ABX21X25
IS0 14
S [ 120 120
M10x12
@ @ ...............................
al| x D — %._j ~
5 3 | m n | 3
135 5 o
@27 hé
100 227 M7
® | woxe .
- ~ [ i ? S ‘ -
¥ | .,-é |
| ﬁ |
| I I
ar A - 2 0
S I 5
o E=
! 226 o I
| _‘“:’ |
| ! £
e |
ﬁﬁ% 3 |l =
21256 § |
0 @307 @256
1197 o

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

102
www.atek.de )

Status as per 01/2018



6.5.9 Type VL 140 - Type V with flange for motor mounting

Characteristics

Characteristic

Standard

Toothing

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

103

Status as per 01/2018

www.atek.de



Performance data

1]
0 ,1,] ny |PIN|Tan | np | Pin| T2N PIN|[Tan | np | PIN [ T2N PIN|Ton| no [Pin | Ton PiN | T2n
P [rpom] | [kW] | [Nm] | [rpm] | [kW] | [Nm] [kW] | [Nm] | [rpm] | [kW] | [Nm] [kW] | [Nm] | [rpm] | [kW] | [Nm] [kW] | [Nm]

3000 3000 39.68 120 2000 2491 113 1500 16.53 100 1000 12.12 110 750 851 103 600 6.61 100 500 5.18 94
2400 2400 37.04 140 1600 22.22 126 1200 14.68 111 800 11.46 130 600 7.34 111 480 556 105 400 4.58 104
1500 1500 26.78 162 1000 17.08 155 750 11.41 138 500 805 146 375 496 120 300 3.80 115 250 295 107
1000 1000 20.28 184 667 1287 175 500 838 152 333 587 160 250 3.75 136 200 2.73 124 167 206 112
750 750 16.20 196 500 10.47 190 375 6.86 166 250 460 167 183 3.06 148 150 2.15 130 125 161 117
500 500 11.46 208 333 7.34 200 250 496 180 167 320 174 125 212 154 100 150 136 83 1.09 119
250 250 592 215 167 376 204 125 248 180 83 162 177 63 112 162 50 079 143 42 056 121

=
8
5
S =
<
@
w

50 50 121 220 33 076 210 25 050 180 17 034 180 13 023 170 10 017 150 8 011 120
P1Nt [KWI 10.0 100 10.0 100 10.0 100 10.0
T2max [Nm] 430 358 180 280 280 250 200

Permissible radial force Fr2 and axial force Fa2 on shaft N2

I T U T N AT AN AT AN RO IO IO

< 140 1300 650 1700 850 2000 1000 2500 1250 3000 1500 3800 1900
> 140 1082 541 1420 710 1670 835 2080 1040 2500 1250 3170 1585

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

Inertia moment [kgcm2] Mass

T R

AO 34.6752 23.0606 18.4863 16.3939 152904 14.8851 14.6758 24.0
BO 458411 28.2365 21.6470 17.4945 157845 153137 14.9457 285
co 458411 28.2365 21.6470 17.4945 157845 153137 14.9457 235
DO 46.8232 28.6730 21.8926 17.6037 15.8459 15.3530 14.9729 24.0
EON 42.4047 26.7092 20.7879 17.1127 155697 15.1763  14.8502 23.0
EOS 48.8060 29.5543 223883 17.8240 159698 154323 15.0280 23.7
FO 46.4752 30.6161 222113 182717 164716 15.6611 15.2424 28.0
GO 589746 342563 27.0398 224708 16.8069 16.3204 15.9517 27.7
HO 58.9746 342563 27.0398 224708 16.8069 16.3204 15.9517 27.7
Jo 59.9567 34.6928 27.2854 225800 16.8683 16.3597 15.9789 28.2 Faz
KON 5556382 32.7290 26.1807 22.0890 16.5921 16.1830 15.8562 27.2
KOS 61.9395 355741 27.7811 228003 16.9922 16.4390 16.0340 27.9

y 3
AVVE K

ANTRIEBSTECHNIK

104

Status as per 01/2018

www.atek.de




6.5.9 Type VL 140 - Type V with flange for motor mounting

i 140 140
@ Mioxi5
0de N 45 3
®
= 1
SIRNIE - 9 — ]
SN - g‘
% DR M12
= DIN 332
50
110
B (® M10x20
g [ w |
2 ® o 1
I D . |
S R
I : |3
o 'l o
— SR 1,5
T 1,5
1q
232 16
240
@90 f7
@135 7
AN 140 140
@ Mi0x12
®
o =
QIRIE T - g sls
(S ORI
® DR M12
= DIN 332
1 ®
— 110
—~————
®
@ M10x20
® mI 4 o Implementation VV
2 I l = | e _._._ A 7
~ | |
n ggj? ”””” [ [
| |
HO - [ | 5
® ni — 1 15 L | ——
® ‘ 5 / o | ™
- o N~ | ©
L_l = 11119 ‘ ;
L @ 23216 Ll Ll 10
TU@ 250 23816 °
@90 f7 250 = DR M12
7 L AN
J0 e 2135 DIN 332
I t - 90 B14 24x50 160 130 110 9 4
= 0] B5 24x50 200 165 130 11 45
~ 100 B14 28x60 200 165 130 11 45
n2 ® B5 28x60 250 215 180 14 5
- B14 28x60 200 165 130 11 45
B5 28x60 250 215 180 14 5
- > B14 38x80 200 165 130 11 45
AUVVE K B5 38x80 250 215 180 14 5

ANTRIEBSTECHNIK

105

Gear ratios 3:1 through 6:1 only with intermediate flange or shortened motor shaft.

Status as per 01/2018 WWW&tEkde




140 140

@ Mioxt2
’ ode
©
a|l X tm %’ g
SR8k - 5K °
; ®
5 3]l ® 2 | 3 g
o
170 180 =2
cs
110 Implementation
® M10x20
. EONO .,  EOK6
|
| 8
i} 2lg ‘
==y |
o
: 232,12
|
SH : I
10459 :
SeY
(==}
o
035H7
ABX26X32
1S0 14
—~ 140 140
©) @ M0x2
6
(=1 L:m to
ST S == g R
15 3 ]| 8 82 3
170 % 122
34 6
10 @34 H7
® | Miox0 [
= < % | &
% > ;
i s |
I S I
'7"‘77‘ 8 | &
@ N
U en £ |
I S !
| 5 !
=2 N .
HoE £ [l s
232 H6
29017 a4 h7 @326
213517 280

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

106
www.atek.de

Status as per 01/2018



6.5.10 Type VL 160 — Type V with flange for motor mounting

Characteristics

Characteristic

Toothing

Standard

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

107

Status as per 01/2018

www.atek.de



Performance data

n
" r1n1 ny [PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2n
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]

3000 2000 40.78 185 1500 28.11 170 1000 20.94 190 750 14.88 180 600 11.90 180 500 7.09 129
2400 2400 57.67 218 1600 36.15 205 1200 25.53 193 800 17.81 202 600 13.23 200 480 10.48 198 400 598 136
1500 1500 42.99 260 1000 27.78 252 750 20.25 245 500 12.68 230 375 9.09 220 300 7.11 215 250 395 143
1000 1000 31.96 290 667 20.59 280 500 14.88 270 333 899 245 250 6.61 240 200 4.96 225 167 3.01 164
750 750 25.63 310 500 16.26 295 375 1157 280 250 6.89 250 188 5.17 250 150 3.97 240 125 243 176
500 500 18.19 330 333 11.56 315 250 827 300 167 4.79 260 125 358 260 100 2.76 250 83 1.72 187
250 250 9.64 350 167 6.07 330 125 441 320 83 256 280 63 18 270 50 149 270 42 092 199

=
8
5
S =
<
@
w

50 50 209 380 33 129 355 25 088 320 17 057 305 13 039 280 10 032 290 8 018 197
PNt [kW] 15.0 15.0 15.0 15.0 15.0 15.0 15.0
T2max [Nm] 660 360 320 457 422 420 350

Permissible radial force Fr2 and axial force Fa2 on shaft N2

BTN IO O IO O IO AT AT AR AT AR AT

< 220 2000 1000 2800 1400 3300 1650 4000 2000 5000 2500 6500 3250
> 220 1670 835 2340 1170 2750 1375 3340 1670 4170 2085 5420 2710

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

Inertia moment [kgem?] Mass

[ eamomentiam® )
IEENETCEETNENENENEE

AO 424880 322050 25.0090 22.8169 21.8333 21.4119 21.2266 36.5
BO 443697 445919 32.7507 259456 23.8183 22.8273 22.0772 36.0
Cco 443697 445919 32.7507 259456 23.8183 22.8273 22.0772 36.0
DO 453990 45.0494 33.0080 26.0600 23.8826 22.8685 22.1058 36.5
EON 47.2021 457092 33.3159 26.1968 23.9596 229177 22.1413 35.0
EOS 53.4920 485047 34.8883 26.8957 24.3527 23.1693 22.3160 35.6
FO 57.3235 38.7985 287179 244653 22.7605 22.0053 21.6387 43.0
GO 59.2052 57.6357 41.4007 33.2488 29.3259 24.5072 23.7552 42.5
HO 59.2052 57.6357 41.4007 33.2488 29.3259 24.5072  23.7552 42.5
Jo 60.2345 58.0932 41.6580 33.3632 29.3902 24.5484 23.7838 43.0 Faz
KON 62.0376  58.7530 41.9659 33.5000 29.4672 24.5976 23.8193 41.5
KOS 68.3275 61.5485 43.5383 34.1989 29.8603 24.8492 23.9940 42.1

y 3
AVVE K

ANTRIEBSTECHNIK

108

WwwatEkde Status as per 01/2018




6.5.10 Type VL 160 — Type V with flange for motor mounting

@D
DK
@159 f1

DR M12
DIN 332

B ® |  Mi2xe4

T
n2 (0] I @
I

23516

240
21107
@159 f7

2D
oZK
@dF7
|
T

215917
o110fl

S

DR M12
DIN 332

—— 190
-1 120
__® n y m ® |  M12x4
i - [ —— Implementation V/V
® n2 = ‘ g8 —om R —
”””” | |
® n1 i : : —
- P \  E—— -
. :li-il - M/l o | o
® 8 || R
® @356 R ‘ 12 -
240 @42 6 30
n @101 255 2l

215917 L

®
® DIN 332
|| = s [1EC motor | Model | Shaft (4x) | Dimm] | LKimml | ZK{mml [ s(mm | ifmml |
165 130 11
® 100

- B14 28460 200 4

B5 28x60 250 215 180 14 5

112 B5 28x60 200 165 130 11 4

B5 28460 250 215 180 14 5

- B14 38x80 200 165 130 11 4

AUEIK eE B5 38:80 300 265 230 14 5
ANTRIEBSTECHNIK

Gear ratios 3:1 through 6:1 only with intermediate flange or shortened motor shaft.

109

Status as per 01/2018 WWW&TEkde



160 160

M12x15
® .
e 1 2
] NS - 5= 8
Q| § SIS °
3l s % ||| 3 2
206 E
&
120 Implementation
®| _Mi2xed
— | ——
I EOND 5 EOK
i I T gl
[ [} 77‘ 77777 i |
I I oo !
L-te=y &8 :
I et ol ‘
I | :
| ‘
7 \
11017 !
o159 17
ABx32x38
1S0 14
i 160 160
@ @ M12x15
al X T i tc’
al 8le - Bls
SIS ISR
3 ]|l 9 95 3
103 135
23716
120 @37 HT
® | M4 Wi
|
= i < - I &
i = ‘
i 2 ‘
i £ |
7] ‘*7‘ § | E
I @36 @ !
i = I
I S !
s T
o N
B £ || =
o356 S
-~ 447 @35 b
2159 f7 280

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

110
www.atek.de

Status as per 01/2018



6.5.11 Type VL 200 — Type V with flange for motor mounting

Characteristics

Characteristic

Toothing

Standard

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

111

Status as per 01/2018

www.atek.de



Performance data

n
" r1n1 ny [PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2n
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]

3000 2000 72.75 330 1500 51.25 310 1000 46.29 420 750 28.93 350 600 19.84 300 500 11.45 208
2400 1600 63.49 360 1200 4524 342 800 39.24 445 600 26.45 400 480 1799 340 400 9.60 218
1500 1500 74.40 450 1000 48.17 437 750 35.13 425 500 28.38 515 375 1881 455 300 1257 380 250 6.54 237
1000 1000 56.21 510 667 37.13 505 500 27.56 500 333 20.37 555 250 13.36 485 200 9.26 420 167 4.74 258
750 750 4588 555 500 30.31 550 375 21.90 530 250 1598 580 188 10.54 510 150 7.27 440 125 398 289
500 500 34.17 620 333 22.02 600 250 14.60 530 167 11.04 600 125 7.23 525 100 5.18 470 83 279 304
250 250 19.56 710 167 11.04 600 125 730 530 83 576 630 63 379 550 50 2.78 505 42 144 311

=
8
5
S =
<
@
w

50 50 413 750 33 218 600 25 146 530 17 129 690 13 080 580 10 058 525 8 028 306
PNt [kW] 26.0 26.0 26.0 26.0 26.0 26.0 26.0
T2max [Nm] 1090 600 530 910 860 860 625

Permissible radial force Fr2 and axial force Fa2 on shaft N2

gy | row | G | o | m | fm | moa | roa | ma | mm | mo | rou |

< 500 3200 1600 4300 2150 5000 2500 6500 3250 8000 4000 10000 5000
> 500 2670 1335 3580 1790 4170 2085 5420 2710 6670 B8S5 8330 4165

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

i st [ e [ s | e [ 51 | er
AO

160.794 103.333 79.4024 66.6041 62.5170 60.9854 60.2444 64.0
BO 214242 149221 114714 81.9650 70.9700 67.7153 64.9180 60.0
co 214.242 149.221 114.714 81.9650 70.9700 67.7153 64.9180 60.0
DO 217.359 150.606 115494 823114 71.1649 67.8400 65.0046 62.0
EON 240932 154.665 119.527 829928 71.6107 68.6453 65.5638 60.0
EOS 261.954 164.009 124.783 85.3286 72.9245 69.4862 66.1478 61.3
FO 221.420 130.278 94.5590 73.3404 66.3062 63.4105 61.9285 72.0
GO 274.868 179971 135867 94.0610 81.4460 71.4373 68.6220 70.0
HO 274.868 179971 135867 94.0610 81.4460 71.4373 68.6220 70.0
JO 277985 181.356 136.647 944074 81.6409 71.5620 68.7086 72.0 Faz
KON 301.558 185416 140.680 95.0888 82.0867 72.3673 69.2678 70.0
KOS 322580 194.759 145936 97.4246 83.4005 73.2082 69.8518 713

y 3
AVVE K

ANTRIEBSTECHNIK

112

WwwatEkde Status as per 01/2018




6.5.11 Type VL 200 — Type V with flange for motor mounting

i 200 200
@ M12x20
ode O N '(\«o
3
O]
8l 8% - sl %
Qg N ‘é
» DR M16
/ 3 DIN 332
20
230
160
B G M12x24
2 I w ]
(O] | @
s B ES |
| olo
=== I ————— [<1R=1
| — | N
o 'l o
— 3 || 30
; ™ 2,0
1 .
242 18
55
2120 f7
@199 f7
AR 200
@ M7
®
2 R
® DR M16
DIN 332
20
230
160
- (® M12x24
2 I — Implementation VV
5 glgl .- ,
—| AN | |
”””” | |
| |
<
. | | N
1 I 1 T N
20 A - i
=4 >
N I
242 16 | | -
255 25518
@120 f7 @70 A PN ey
7 o ANUES
2199 DIN 332
G B14 28x60 200 165 130 11 4
B5 28x60 250 215 180 14 5
. B5 28x60 200 165 130 11 4
B5 28x60 250 215 180 14 5
- B14 38x80 200 165 130 11 4
B5 38x80 300 265 230 14 5
- 160 B5 42x110 350 300 250 18 6
ANAUE K 180 B5 48x110 350 300 250 18 6

ANTRIEBSTECHNIK

113

Gear ratios 3:1 through 6:1 only with intermediate flange or shortened motor shaft.

Status as per 01/2018 WWW&tEkde




200

200
@ M7
5 0G€
N == EON
o X[~ o o (=}
Q| Nl | N IS
Q| 8 & & S}
w @
20 3 ) 17 mr || 3 <
=S
230 250 =2
cs
160 ;
Implementation
® M12x24
] ‘ EOKG6
g | EONO ,
R P
1 s
8|8 :
— N ]
' 2481
|
SH A‘
149 :
@< (—
050 H7
A8x42x48
1S0 14
-~ 200 200
M12x17
® 0 @
(=1 L; tc’
| N = == >N
88 SRS

20 3 |l 117 i 3
230 125 162
4416
160 2447
® | m12xe4 Bl
] B A8 e
T [ ;
| .,"(—E‘ ‘
: 5
wr s |
zZe § I §
4y ews 3 |
| <2 |
=
I = I
B |
HOE s || s
8
o4te 5
212017 gssht < 24216
21997 @100

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

114
www.atek.de

Status as per 01/2018



6.5.12 Type VL 230 — Type V with flange for motor mounting

Characteristics

Characteristic

Toothing

Standard

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

115

Status as per 01/2018

www.atek.de



Performance data

n
" r1n1 ny [PiN | T2N PIN | T2N PiN | T2N PIN | T2N PiN | T2N PiN | T2N PiN [ T2n
? [rpm] | [kW] | [Nm] [kW] | [Nm] [kW]1 | [Nm] [kW]1 | [Nm] [kW]1 | [Nm] [kW] | [Nm] [kW] | [Nm]

3000 2000 99.20 450 1500 87.63 530 1000 44.09 400 750 36.37 440 600 33.73 510 500 20.17 366
2400 1600 91.35 518 1200 80.02 605 800 39.68 450 600 32.74 495 480 29.10 550 400 18.08 410
1500 1500 87.63 530 1000 72.20 655 750 59.11 715 500 29.76 540 375 24.80 600 300 21.00 635 250 13.50 490
1000 1000 71.65 650 667 56.21 765 500 45.19 820 333 23.33 635 250 18.60 675 200 15.76 715 167 9.92 540
750 750 60.76 735 500 4547 825 375 36.79 890 250 19.29 700 188 15.19 735 150 1273 770 125 7.78 565
500 500 45.19 820 333 33.79 920 250 26.73 970 167 14.07 765 125 1095 795 100 9.15 830 83 542 590
250 250 26.73 970 167 20.57 1,120 125 16.881,225 83 758 825 63 599 8/0 50 507 920 42 282 610

=
8
5
S =
<
@
w

50 50 7.00 1,270 33 489 1330 25 366 1,330 17 163 870 13 135 980 10 109 990 8 057 625
PNt [kW] 34.0 34.0 340 34.0 340 340 340
T2max [Nm] 1500 1400 1400 1300 1300 1200 1000

Permissible radial force Fr2 and axial force Fa2 on shaft N2

i | Foo | ro | o | rm | o | rmo | fm | oo | mmo | rou | foo | v |

< 750 5850 2925 8650 4325 10500 5250 12250 6125 15000 7500 19000 9500
> 750 4876 2438 7208 3604 8750 4375 10208 5104 12500 6250 15830 7915

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

A0 577.000 287.000 203.000 141.000 134.000 131.000 126.000 94.0
BO 573.000 292.000 207.000 143.000 135.000 131.000 127.000 112.0
co 573.000 292.000 207.000 143.000 135.000 131.000 127.000 112.0
DO 583.000 296.000 209.000 144.000 135.000 132.000 127.000 91.0
EON 583.000 301.000 213.000 146.000 136.000 132.000 127.000 86.0
EOS 644.000 328.000 228.000 153.000 140.000 135.000 129.000 87.0
FO 830.000 404.000 272.000 163.000 149.000 142.000  134.000 112.0
GO 826.000 390.000 271.000 177.000 168.000 161.000 157.000 115.0
HO 826.000 390.000 271.000 177.000 168.000 161.000  157.000 115.0
Jo 836.000 394.000 273.000 178.000 168.000 162.000 157.000 117.0 Faz
KON 836.000 399.000 277.000 180.000 169.000 162.000  157.000 110.0
KOS 897.000 426.000 292.000 187.000 173.000 165.000  159.000 111.0

y 3
AVVE K

ANTRIEBSTECHNIK

116

WwwatEkde Status as per 01/2018




6.5.12 Type VL 230 — Type V with flange for motor mounting

230

) @

M16x20

@D
oIK

@225 17

DR M20
DIN 332

: 180
: ® M16x24
n2 ® [ T ]
© I @
] L. |
| oo
*I‘ 2|F
o il @
— z ; 5,0
YT 10
16 .
2551
260
@150 7
@225 1
I 230 230
@  Mi6x0
a|l x| x L\LB g
SIS Se
IS SRS
@ DR M20
® DIN 332
D 1-‘
- ®
® 180
» I‘ 1' = B M16x24
- : Implementation VV
@ n2 I _._
L
. L ,H(, :)‘ S S —-=. . -
@ m ﬁ\ 77777 n T — | | |
— & o [ [
il T A ! \ !
, l‘_‘l -- . - \ [ b=
O} L I | E—— ~
—— @ 1,0 M 8 | 8
S =
® @55 i6 1120 | _ ‘ o
260 27018 7 .
150 f7 80 =l
e - : o
o ® DIN 332
———|
132 B5 38x80 300 265 230 14 5
160 B5 42x110 350 300 250 18 6
- 180 B5 48x110 350 300 250 18 6
AUVE K 200 B5 55x110 400 350 300 18 6
ANTRIEBSTECHNIK

117

Status as per 01/2018

www.atek.de



230 230

@ M16x20
© ) 6
g ¥ R
S| . g8
EE Q| Q
5w
24 4 | g—g
265 § s
180
® M16x24
EONO EOK6
16489
B i
|
88 I
—| :
|
|
@150 7 ‘
@225 {7
A8x52x60
IS0 14
(4 230 N . R ode
SHE HE
SIS ole
> Q|
4 Q| 1% 132 || 4]
1425 1825
@57 ht
180 @57 HT
® |  mioxe4 o
=] ‘ < 5 | =
A =
M S T
=1 I
: =
I g I
v ‘*7‘ =) ‘ 9
[<b]
‘ o6 = | s
| k) |
| 5 |
“9 |
HW o S || s
@55 H6
150 f7 o7 o
2225 17 2138

The dimensions of the Models not shown can be figured by mirroring available dimensions.

y
AUVE K
The shaft dimensions on side 4 follow from the dimensions of type AQ.

ANTRIEBSTECHNIK

1
www.atek.de 8

Status as per 01/2018



6.5.13 Type VL 260 — Type V with flange for motor mounting

Characteristics

Characteristic

Toothing

Standard

Bevel gear set, spiral-toothed

See chapter 6.2.1

Gear ratio

1:1to6:1

Housing / Flanges

Grey cast iron

Threaded mounting hole On all housing surfaces without flange and on all flanges. See chapter 6.2.3
Material 1 C45, shaft ends greased

Shaft Fit with ISO 6 tolerance with parallel keyway: according to DIN 6885 Sheet 1 See chapter 4.6.2
Material 1 C45, shafts greased

el il Fit with ISO 7 tolerance with parallel keyway: according to DIN 6885 Sheet 1 Sze EEEE S

Radial shaft seal ring NBR, form A See chapter 4.8

Ambient temperature

-10°C to +90°C. The values of the performance tables are valid for +20°C

See chapter 4.9.3

Circumferential backlash

< 30 arcmin

See chapter 6.2.10

Protection class

IP 54

See chapter 4.5

Corrosion protection

Prime coat; layer thickness > 40 ym

See chapter 4.4.1

Bearing life L10h

more than 15,000h

See chapter 4.9.1

Not required if the oil temperature is kept < 90°C

Oil change intervals The lifetime of the bearings can be increased by the factor 1.5 if the oil is See chapter 6.2.8
changed after the first 500 service hours and then every 5000 service hours.
Lubricants Synthetic lubricants See chapter 6.2.8
Flange Suited for the mounting of IEC motors
Coupling Three-piece claw coupling
-
AUVE K

ANTRIEBSTECHNIK

119

Status as per 01/2018

www.atek.de



Performance data

6:1

2 lalizlels el o il o e
[rpm] | [kW] | [Nm] [kW] | [Nm] [kW] | [Nm] [kW] | [Nm] [kW] | [Nm] [kW] | [Nm] [kW] | [Nm]
3000 2000 189.58 860 1500 13392 810 1000 8597 780 750 57.87 700 600 46.29 700 500 27.27 495
2400 1600 158.72 900 1200 11243 850 800 72.39 821 600 51.58 780 480 40.21 760 400 23.12 524
1500 1500 157.07 950 1000 104.71 950 750 7853 950 500 49.60 900 375 37.20 900 300 29.10 880 250 16.36 594
1000 1000 115.73 1,050 667 73.50 1,000 500 57.87 1,050 333 36.34 990 250 2893 1,050 200 21.82 990 167 1293 702
750 750 96.72 1,170 500 55.11 1,000 375 4836 1,170 250 2893 1,050 188 22.73 1,100 150 18.19 1,100 125 1091 792
500 500 72.75 1,320 333 36.70 1,000 250 33.07 1,200 167 20.43 1,110 125 16.26 1,180 100 13.23 1,200 83 8.06 878
250 250 42.44 1540 167 1840 1,000 125 16.53 1,200 83 11.16 1,220 63 861 1250 50 7.11 1,290 42 435 940
50 50 964 1,750 33 364 1000 25 331 1,200 17 255 1360 13 182 1,320 10 147 1330 8 087 951
PNt [kW] 42.0 42.0 42.0 42.0 42.0 42.0 42.0
T2max [Nm] 2310 1000 1200 1940 1940 1910 1730

Permissible radial force Fr2 and axial force Fa2 on shaft N2

| Ton(Nml | FINL | FaND LR IND ] PN L RN L Fa N L RN L Fo NI LR INL P NI L F [N

28000

< 950 8500 4250 13000 6500 16000 8000 18000 9000 22000 11000

14000

> 950 7080 3540 10830 5415 13330 6665 15000 7500 18330 9165

23330

11665

Inertia moments/mass
Inertia moment J; related to the fast-rotating shaft (N1)

AO

826.100 347.183 202675 136.373 115804 105.534 100.558 100.0

BO 839.340 209.512 289.735 168511 135.694 118264 109.454 100.0

co 839.340 209.512 289.735 168511 135.694 118.264 109.454 100.0

DO 853.750 424.806 293.338 103.557 136.594 118.840 109.854 103.0

EON 840.590 454.512 296.298 171.400 137.319 119.304 110.176 97.0
EOS 904.240 482.801 312210 178470 141296 121.849 111.944 G989
FO 123320  528.117 304.450 181.607 141.248 121.818 111.867 120.0

GO 124644 334512 382235 208361 157.024 139.264 129.954 124.0

HO 124644 334512 382235 208.361 157.024 139.264 129.954 124.0

Jo 126085 549.806 385.838 143.407 157.924 139.840 130.354 127.0

KON 124769 579512 388.798 211.250 158.649 140.304 130.676 121.0
KOS 1311.34 607.801 404.710 218320 162.626 142.849 132.444 123.9

y 3
AVVE K

ANTRIEBSTECHNIK

120

WwwatEkde Status as per 01/2018

<«
@
Y
=
(=3
o
x
@
»

|onag




6.5.13 Type VL 260 — Type V with flange for motor mounting

) M16x20

2D
oK

255 17

DR M20
DIN 332

220
T ® M16x32
n2 2 [ } ]
[©] I @
] |- |
| oo
o I‘ NI
o | '|I o
— 5 | 50
YT 10
18 _
26018
265
160 f
2255 1
o 260
(@ Mi6x20
®
2 5l %5
N S 85
= DR M20
= DIN 332
1 @
i N
- ®
220
®
].._..l — M16x32
— Implementation VV
® n2 LI L
. =S [ IS S S S
I—] o ! !
® n ! I I
N | | |
il I R - | — &
@ 10 M’ o | [Te)
—— < N
® e \ .
26018 ‘ -
O 265 L en®
@160 7 280 == S
l_l = @255 {7 T DIN332
®
132 B5 38x80 300 265 230 14 5
160 B5 42x110 350 300 250 18 6
- 180 B5 48x110 350 300 250 18 6
NUE K 200 B5 55x110 400 350 300 18 6
ANTRIEBSTECHNIK

121

Status as per 01/2018 WWW&TEkde



260

260
@ M6 ode
®
ol x| 2 3
SIS Ble ]
Q8 IS ©
w @
b
2% a ) | s ] sg
280 320 g
220 .
Implementation
® M16x32
[] T EOK6
| S | EONO ;
b M <
oo | a
AN | © N
[N aN} |
T 2651
‘ o
|
|
A8x56x65
IS0 14
o 260 260 G ——— ode
1B @ Mi6x0
= = il 25
] QB - Q2
Q| § NES 2
% ®
28 4 J. 150 150 4
280 160 200
@62 6 ®
290 @62 H7
® |  wmi6ex32 A
] S = L 3
H- 5T
i g !
= |
- 1 :*7‘ % o
8 |! 2
| @61 @ !
| — |
- | E |
2 [ =
H o S || s
gote S
2160 f7 o750 2609
2255 7 7138

The dimensions of the Models not shown can be figured by mirroring available dimensions.
The shaft dimensions on side 4 follow from the dimensions of type AQ.

AVEK

ANTRIEBSTECHNIK

122
www.atek.de

Status as per 01/2018



